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15. A man sells an article at 5% above its cost 15. U&% 3(TgH! TP g P! IUP ANTd T ¥ 5%
price. If he had bought it at 5% less than 3ftre W a9ar 21 afe 39 3 U YA |
what he paid for it and sold it for Rs. 2 less, 5% B U WISl gidl 3 S 2 I Y W
he would have gained 10%. Find the cost a1 8T, 91 3/ 10% &1 a1H gidl| ag $T HY

price of the article. He JTd Do |
a. Rs.500 a. 500 ¥Uq
b. Rs. 360 b. 360 ¥Ud
c. Rs.400 c. 400 IUY

d. None of these d. Sﬁﬁ | m‘ls‘ el
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16. Rakesh had money to buy 8 mobile 16, IPY & U UH A9 HU4t & 8 HiEEA
ham‘isets of a specific company. But the %‘ﬁzmﬁaﬁ%ﬁmﬁﬁ g A e 3 oam

retailer offered a very good discount on

that par.ticular handset: Rakesh could buy fady i W 33?{ él't's.'ﬁ RC Dt IS DI
10 mobile handsets \A{lth the amount.he T UnT o ?TQT zﬁ 39 T7 10 m

had. What was the discount the retailer

offered? Fede wilg Rrani e fadar g1 & € ge
upsc PT2019 =y ofly
By T
UPSC PT 2019
\:/;Z:: a. 15%
c. 25% _b"20%
d. 30% Gy 28
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17. A shop owner offers the following discount options on an article to a customer:

i. Successive discounts of 10% and 20%, and then pay a service tax of 10%.

ii. Successive discounts of 20% and 10%, and then pay a service tax of 10%.

lii. Pay a service tax of 10% first, then successive discounts of 20% and 10%.
Which one of the following is correct?

UPSC PT 2020

a. 1 onlyis the best option for the customer.
b. 2 only is the best option for the customer.
c. 3 only is the best option for the customer.

d. All the options are equally good for the customer




Profit, Loss & Discount / @TH, §1fH 3R qgl

17. U T8 W, T gPIeR, 0P I6 9t A ge # Rwea gare: | 4-\©
i. 10% 3 20% P BB Fe MR TGURIT 10% JGT B BT YA
ii. 20% MY 10% B BB FT IR TGN 10% FA B BIYTAET — >, - |0 + |
iii. 78S 10% Va1 B T YA dgURId 20% 3R 10% B! HIAS e
| & v D —10
Prafaf@a & @ -1 98 &2
UPSC PT 2020
a.m$ﬁrqm1mmﬁm%l
b. TTEP & fIT Fad 2 Gad 331 fawe g1
c. TeH/& foIT Fad 3 Tad =51 fdweu 81
d. & fog ot fawey 9o &0 | oD g
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18. Find a single discount equivalent to the 18 20%, 10%, 5% aﬁw masmm'{g
discount series of 20%, 10%, 5%.

d. None of these










19. The marked price of a table is Rs. 1200, 19,@23‘52513’[&311@ 1200 '\Ftr&%, CIRSIUG
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which is 20% above the cost price. It is

Ted | 20% fUF 81 3H 10% Pt [ W a1

sold at a discount of 10%. Find the profit STl 2 | 9T o 3 S|
percent. /A\' ' pYZT ,_(:)D /»‘ 2o \>
A > f Fp ;)r T -
| o (Elar ¢ ok Sor ¢, 10
a. 10% =Ske7 L3 a~10% P / 0
b 8% 10& ) B | 1o
c. 8.33% c. 8.33% o

d. None of these
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20. A shopkeeper marks the price of an article 20, U® IHHER TP T P! DA 80 U aiﬁra
at Rs. 80. Find the cost price if after HdT & | TN Hed §Id Direrd afe 10% aﬁga

allowing a discount of 10% he still gains 1 & qdrg Mt W 9 I W) 20% a'»'l ATy
20% on the cost price. < i L EY LGS
5

e

et 2

n e 53,38 A5 > a. 53.33%0%
\b/mo{fj’ 42 b. 7070

¢/ Rs.60 X — \/sow&

d. None of these”‘)’}5 d. 399 A $Ig T8l

-0
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21. A whole-seller allows a discount of 20% on 21. U®% Ui$ fdshdr v LG 4] fashar &t '\‘[iﬂ G

the list price to a retailer. The retailer sells
at 5% discount on the list price. If the
customer paid Rs. 38 for an article, what

profit is made by the retailer ?

Rs.10
Rs.8
Rs.6

None of these

. R R

W 20% P! Je o 8 | a1 fashar T e W
5% P¢ U a9dl g | Ui ATed A Ud axg & forg
38 IUA HT Yirar far, af e fabar &1
fa=T @y gam?

a. 10394
b. 8 ¥Ud
c. 630

d. T7H A DI T8l
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